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Answer all groups as per instructions.
Figures in the right hand margin indicate marks.
Candidates are required to answer
in their own words as far as practicable.

GROUP - A

1. Fill'in the blanks by choosing correct answer given in the brack-
ets. (all) [1x12

QOR FRIER UKL A0, AQQ S99 FF YR UaE Q|
(Qag)

(a) Fordeveloping nations, the effect of rapid increase in popula-
tion on economic development is
(Beneficial / Harmful)

RGP QLYERER 90 @A 9F 2dToR ARG Qe

gele ] (RIeQee | 9610e)

(b) InIndia, birth rateis than death rate. (higher / lower)
ANGER FRUAIR0IG FLLIR | (2@ | @)

(¢) Indiais now passling through stage of demographic

transition. (First / Second)

=PI
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[2]

ARG FRFIR FALH LAYIRER _ 906Q1 615 993 |
(gadt | §o19)

(d) checks natural. (Positive / Preventive)

goR YIRER eS| (9R5R, /I Jearda)

(e) propounded Social Dualism. (J. K. Boke / Higgins)

AR [T geAR @52ER |
(69.61. 69168 / 9. 2IRATR)

(f) Povertyis the cause and effect of
(unemployment / poverty)

AR QIO 6 TRITH _26S | (6QQIa1 | QBT
(@) Acountryis poorbecause itis . (big country / poor)

601G 696 QQQ QIREl, 12| | (920, 624/ @§Q)
(h) is a form of economic inequality in India.

(Asset holiday/population)

QANRER e IR 2d6Ro COReN |
(YA AIRRIR! | PRALH)

(i) is a measure to save environment,
(Afforestation / Deforestation)

JR6ER IeRE gl aIgt NG QA |
(RIS | Q4 eI
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() is physical element of environment.
(Water / Plant)
(SIS R 69I0R QEIQIR | (99 / 9F)
(k) is not a type of foreign aid.

(Direct investment / External debt.)

6 696280 2196 Q6% |
(dOUS P64l | 6569@ Q&)

(D gave a view on Trade and development.

QER 6 2R QI QUK TS 6ARASR |

GROUP - B

2. Answer any eight of the following questions within two to three
sentences each. . [2%x8

696QISIA G dYa 20a J6Iae 9 9 G6RIT QIRIER 9L Q|

(a) What is Population trap ? |
@AM I @4l ?

(b) Write two positive effects of increase in Population.
PR QTR QPG I R |

(c) State the determinant of demand for Children.

dal PG 21201 P KQael RUIAYGR QENY @l |

P.T.O.

. == T TR
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(d) Write two measures to save environment.
564 9oSl IR QRE AClY 6RS |
(e) Whatis Sex ratio ?
AEIQAE @&l ?
(f) Whatis Migration ?
FIREYIR PEER @4l Q¢ ?
(g) What is technological dualism ?
6939@ RIFR 690 @4 ?
(h) Whatis spread effect ?
gaAte g @4l ?
(i) State two causes of income inequality in India.
VAEEA ULCATYARIR LG RIQS 6AF |
(j)) What s foreign aid ?
6P6QTR ARITGI R4 ?

GROUP - C

3. Answer any eight of the following questions within 75 words each.

UERIId CE gga Qae g601aq 988 da FrIa gale &9
[3x8
(@) Whatis appropriate technology ?

A0Q, 69642 B9 296q Q4 Q. ?
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[5]
(b) What is Urbanisation ?
RIS [LER G 9 ?

(c) State the relationship between food production and popula-
tion as per Malthus.

FIRALS FI06Q §1RY QYRR B8 FFLEH FRIGA 29! AR QUi
Q|

(d) Whatis genderinequality ?
AT IV Q&1 ?

(e) Whatis vicious circle of poverty ?
éé@@la aga eej Q8 ?

(f) Define healthy environment.
dg dR6Q¢da Rl g @Q |‘

(@) What are the main soUrces of energy ? et
93 9¥Q Qe AQ9Fe Q4 ?

(h) What is offer curve ?
AR O FLEM Al QK ?

(i) Define the term economic development.

<

UCROR AR R YR @ |

RP.T.O.
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() Define Ricardo’s views on Trade and Development,

6T6adq Qdey 6 2daEe S04 ad6a ARIEAIR 716 aagae
Q|

GROUP - D

4. Answer any four of the following questions within 500 words each.

69616 ¥G gga QaQ g6eIa 800G dr IR g9le oq |

(@) Examine the effects of increasing population on economic
development. [7

206969 SR19 QU6a KR 9FR IS ZSRIF! a |

(b) Explain the Harris-Todaro Model along with its assumption.
| [7
2IR-65I6RIc T AL RN A2 YISyl @Q |

(c) Discuss the importance of technological progress in eco-
nomic development of a country. [/

6299 26T0e 3919 cagea cTudia @eq deQ 2sRIea!
Q

(d) Explain the vicious circle of poverty. How can it be broken ?

[7

QeI FYR o9 ey @A YRR FUR 26e¢ @aIdiR
Jdae @ﬂlall
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(e) Explain the nature and extent of economic inequalities in India.

7
QUOER 2ATCRTR DGR 90 6 QU AR CRISR
=1 “

(f) Discuss the impact of economic ‘development on environ-
ment. | : [7

26000 SRI4 ch6Req Faf gaIfe @ReIN 2SRIPR! Q|

() Explain how foregn aid is helpful for an underdeveloped cou-

ntry ? Y
AR 694 IR 6T6TR ALILG FUR AL 2RI
CRORN @R |

(h) Discuss the importance of international trade in development
- of adeveloping country. [7

QAGSIR 6Qdgia FQIY IR AV QTR YAQ ACASR!
el |
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